
qm=;+= kb gfd,y/ df]jfO{n gDj/ s}lkmot

1 k|d"v k|zf;lso clws[t >L vu]Gb| ef/tL 9858737008

2 x]=c= clws[t %}&f}+ >L dfg jxfb'/ ;fx" 9848728316

3 OlGhlgo/ >L ;"ldt r^f}t 9840091369

4 ;'rgf k|ljlw clws[t >L lblnk l;x ef^ 9848750725

5 gfoj ;"Jjf >L dft[sf k|;fb e§ 9848786852

6 ;fdflhs kl/rfns >L kbd gfy 9858787303

7 ;j OlGhlgo/ >L k|sf; P]/ 9858751885

8 slj/fh >L /fd jRrg ;fx 9845134652

9 c=x]=j= >L dbg l;x ef^ 9848826068

10 vf=kf=;= ]̂= >L jn/fd lji^ 9865848885

11 kz" :jf:Yo k|fljlws >L #gZofd ltjf/L 9848430216

12 k|f=;= >L tf/L l;x &s"/f&L 9848728087

13 n]vfkfn >L *Dj/ jxfb"/ kfn 9858737002

14 ;xn]vfkfn >L jL/ jxfb"/ dNn 9858787304

15 c=;=O{= >L sNofg sfdL 9749518026

16 >f]t JolQm >L lvdfgGb kGt 9868725512

17 lkmN* ;+of]hs >L O{Zj/L bt kGt 9848702384

18 hn>f]t k|fljlws >L k|]d l;x ;fp+b 9749504726

19 ;j OlGhlgo/ >L wd{ e)*f/L 9844827413

20 hLljsf] kfh{gk|j{$s >L ;Gtf]if hf]zL 9848548380

21 :jf:Yo k|j{$s >L snfjtL dNn 9848784157

22 sf=;= >L gj/fh e§ 9848985373

23 sf=;= >L s[i)f l;x ;fp+b 9868423915

24 sf=;= >L lbks jxfb"/ kfnLjf]u^L 9865870561

25 sf=;= >L kfj{tL e§ 9812635766

j*f sfof{no kb gfd,y/ df]jfO{n gDj/ s}lkmot

;fdflhs kl/rfns >L ofbj l;x ef^ 9848826089

gfoj kz":jf:Yo ;xfos >L u)f]z jxfb"/ e)*f/L 9848733183

sf=;= >L s[i)f l;x &s"/f&L 9868782732

vl/bf/ -jf* ;lrj_ >L ]̂s]Gb| jxfb"/ zfxL 9848985020

vl/bf/ >L xl/ k|;fb kf)*]o 9848895193

gfoj k|ljlws ;xfos >L lbn jxfb"/ d*}+ 9868380495

sf=;= >L j[l$ jxfb"/ &s"/f&L 9867757013

vl/bf/ -jf* ;lrj_ >L u)f]z lu/L 9848844958

sf=;= >L /d]z s"df/ vqL 9867272875

k|f=;= >L du/] kfn u*l/of 9848899334

gfoj kz":jf:Yo ;xfos >L /fd jxfb"/ &s"/f&L 9848802487

gfoj ;"Jjf -jf* ;lrj_ >L k"?iff]td hf]zL 9749501356

sf=;= >L cd/ jxfb"/ lji^ 9749532974

gfoj kz":jf:Yo ;xfos >L df]xg ;fsL{ 9848728039 j=g+= 5

gfoj k|ljlws ;xfos >L lbk]Gb| h}? 9851010276 j=g+= 5

P=cf]= -j*f ;lrj_ >L uf]ljGb| /fh kf)*]o 9848990206

sf=;= >L s)f{ jxfb"/ &s"/f&L 984804386

tYof° ;+sns ;f=k= >L nIdL lji^ 9868725805 1,2/5

tYof° ;+sns ;f=k= >L vu]Gb| lu/L 9749532800 3,4/5

j*f sfof{no 

g+= 2

j*f sfof{no 

g+= 3

j*f sfof{no 

g+= 4

j*f sfof{no 

g+= 5

uf=kf=

efu]Zj/ ufp+sfo{kflnsfsf] sfof{no

efu]Zj/,**]Nw"/f

uf=kf=df sfo{/t sd{rf/Lx?sf] ;Dk{s gDj/

j*f sfof{nodf sfo{/t sd{rf/Lx?sf] ;Dk{s gDj/

j*f sfof{no 

g+= 1


